TCK12008019401.pdf (0 - 10 m) 172000
Doogdoo 00 0NO.
0o0O0ooO0 |B-No.2(D O No.93+14.0 R9.0) ‘ oood ‘ O 0 |36° 45 50.0000”
Ooo0ooao gooooooooo 0O000 |2009-01-16 0 2009-01-19 O 0 |140° 08 55.0000"
O m} O O gooo
poooo DDDD‘ 000 ‘DDD‘ 0DO00o
1800 0 o0
O O oooo
0000 |12935m Oooao
0o so| P ferog oon| O | 00 o1 O oooo
o ol o O
oooo |elom |O|0 O 0 DD g |oooo 0DOoD
0¥ 0.00° 1800 ' O 900’ 0.00°
olo|lo|o| O O O |0|0o O 0|0 oooooooboooo goood oooo (o | o
g|o
0|0 |0 wemooo)|B olo o o (0o|0jo
o o0 o|o oooo  |U goooo oo
o e O o|o Jlm |o 5 . 17170 o
O
- 0 [10]|20| ol
] ] O |o|o O d 1 |o OO
u] o N U o|o
O 10(20|30| O °
(m) | (m)|(m)|(m) o |m) cm)| o 10 20 30 20 50 (m) (m)
——Z[oooo 00,000000 v ]
EF==Z|ooo 0000000,00000000 = k
F C===|mo) 27mM00000000,00000 E
=== o ]
--=-Z= 27mM0000000000000 E
= I oooooo fL15 E
p—— 320335m0000000000 [ | 2 ]
[— — — — ooo — | - 1 N
o --=-Z= 37038m00000000000 S —— 42 E
E=== 0 . ]
o = 3.75m0 0, 50 10mm0 0000 2.00 E
= 5 O [ooooo &1/ 1 ; oo 1
= o 1 ]
o = H 0 L2 32 A o 1
- o 0 ]
I3 = o = 54 2 . 3.00 E
--ZZ 8|73l 1 [Taaf 4 ]
P === 46 E
= e bas | E
E=== B e ) ) 1
[ - ——— 12| 13| 15| 40 7
--=-Z= f55 ]
s --=-Z= -
124.105.25 |5.25 |— — — — P25 19 ]
WA O0oo 000000000000 3|7 |9 |30 1
F WO 0ooooo0ooooo0noo F.45 E
WY oooooooooo ]
DRIAARA 0ooooooooo ]
6 D, 0o00o0ooo0oon sl 28/5 5%5 -
U >50 ]
b AR p-30 E
U ]
I ‘j:"j:"j:"j o 50 o117 ]
WY E L2 5 10 -50 — ]
WY o 725 1
F WY E
Y . 5 ]
s e 723 Y B Y PO _ E
AATATR F13 1
a AR E
U ]
NTATe 50 1
9 |1202s)3.85 Jo.10 p¢" 0% RO 5o 10 | 550 =N (oo 1
p.10 ]




